Day 1

11:19 AM

Unt 5 : Pro]ech‘lcs

In  His unit we will combine  Kinemahes (Unit 3)
and vectors  (Unit &) .

A gralg'd\'le IS any obj‘ed launched nh  +he
air . 4 wil  have verhcal and hortzontal

moh'on .

Our objecb accelerate downward atf - 9.8™/At
dve o ara.w"lu. l_k)y = g = -9.8 Mkt

Always  remember 1o use negative vales for

dowhward  mohon .

The motin I the y-dire chon is independent of
the mohom in  +he x-direchon . The only +Ir;m3
+hat works In  both direchoms is  +Hme.

AN

The mos+ Commcmlg Vsed equa:l'l‘an will  be:

d = Wt + L3t —/ 4 c Vorb +Laut®
N\
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ax = VoOxX L ' Z WX\

- =
dy = Vot +Zayt"

_R/pe | Pro“lec‘h'les
object (initial posihon) . OBJ'ed- starts above

g ) "/ !
. 4 on
. ox Y ground
\

. objec-l- ’s a.luuags' shot

{—

\

dy (hel'fr?) \ horizontall y
l B - v:x given

. —
- VOU:

= | posik
si
|‘F dx inul positn . J; Is alwaﬂs ncga‘h'w,
(range)
ax =0 (always)
0y =~ 98"k

Example I: A rock is launched horizontally off o

dy = 0Om hl’sb chff at IZ"‘/g.T/:,,
&) How lonj does it take o hi+ +he graw\d?

L hme ?
O Vox = 127 dy = —30m
| oy = 0 |
oy = aIWags 'bY _rypt')
*om ay = - 9.3"A"
¢

c_l; = V;yt + 'ziiayf"

- 30 =/(o>fF + L (-98)t"

L YN AAIL
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-30 = -49t"
- 49 ~4.9
o2z =.[t*

&

the base of +he chiff will

b) How f‘o.rv from
the rock it
de=?

dv = Vut + @t
+

= (12)(2.5)

the ground

2

»

Example 2:

A rock is +hrown hon’zmhlly at 4 M/

off o building imh a bucket which s
18 m  from +the base of <the building.
How h"ah s the builcln'na ? S
" ____??‘\’\Vox = M/ dv = 18m dy = ?
'\ e = 0 ?i'y = -9.8M/4e
height “ Vie - 4w ‘\'/';5 o
) m
SN & - Vot + @t
18 = 4t
¢ 3
45 sec = t } Use +his o solve
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for dy .

=99.2Zm  or -99m
displacement (rock went down o the

graund )

(L:;ldlhq'é heioght = 99m

p- 1% #* Jab, 2,34
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